MAT 421 — Exam3 — Take Home — Facc 20 1%

Instructor: Dr, Francesco Strazzullo Name i/(t? b4

o I certify that I did not receive third party help in completing this test (sign)

Instructions. This is an open book test. Each exercise is worth 10 points. When approximating, use four decimal
places. You cannot use a CAS to justify your answers, but only to perform computations.

SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

I. Find [ff. 2x +y —zdV , where S is the solid bounded by the surface x = z* and the planes x = 1,
y=-1,z=1,and z=1y. 7 C L
g ¢ S 2--11%‘_1} 'ﬁ%*—;?ﬂ £’:.Xil73

Ric

- Seetlprd oF <
L i )
SJS Qxty-2 dV = \d?’ S dz 32%&)&& dx =

a 5 w | l Zz.,
\ f 1 1 I v . , o
= \d“f\ [X{ﬂ‘?""“&z dz - de \ [tY-2-2-72 +C 4z -
k ¢t
- ¥ l _’\ l
: 5 Lk b e
= [*3 o LY Z—L as
4 G 3 3 ‘
|

_ Eil O T -\ = lml o Fo,
“’\ T R ‘i+l?>\/ Zédy % 20 ¢ 4
-\
~-h_8 ..\ __4__.4
L R T = )




2.Find the center of mass of the lamina R = {x? — 6x + y? < 0} with density distribution p(x,¥) = x* + y>.
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3. The joint probability density function of the continuous random variables X and ¥ is

ﬂxw_%ome{“ﬁ“ﬁ ifx >0,y =0,

otherwise
Setting up the integrals and using technology, compute the probabilities:
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4,Find | f‘6y ¥ x?

. x* + y? dx dy by converting to polar coordinates.
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5.Use a double integral to find the volume of the solid under the surface z = 2x — y?, and above the region
bounded by x =y and y3 = x. ~0 220
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6. Find the volume of the solid enclosed by the paraboloid x = 3y? + z? and the panes z = 0, y 3, z = -y,
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7.Find the Jacobian of the transformation x = 3v —u?, y = 3u+ w?, z =w + 3v%
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MAT 421 — Exam3 — Part 2/2 — Fall 2017

Instructor: Dr. Francesco Strazzullo Name Kt’r )/

Instructions. This exercise is worth 10 points.
SHOW YOUR WORK NEATLY, PLEASE (no work, no credit).

1
Evaluate the iterated integral j 5 ;x e¥*1dy dx.
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